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) SERO FinCHEET ST SERHEA
Eﬁ;}g TREOBEBOEILNOKRES TREDHESSLNDOKRES TREOBBOSILENDKRES TREDHBEEILADKRES
F0) E % -ia; 'Fiﬁ’ﬁ#(?)@ﬁﬁ%ﬁ ﬁ(%cnié X 4 'Fﬁﬁﬁzé;giw '(a;? ﬁ(%ﬁé X 4 -(,g,:na)c J:ﬁn“ﬁb\(i)d)tt?%‘ jj(giatm%)é X 4 ﬂw“ﬁb\(:f)tt?% ﬁf iv(gifm%)é
; 100kN/ %82 % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/MZE#BZ % — - ~ — — |3mEBZS -~ — - -
znst 1.00 | 0.00 ~ 436 54.39 | Fhst | 000 ~ 436 1.98 10.67 zHnLst 1.00 | 500 ~ 5.02 54.39 | EhLS | 5.00 ~ 5.02 | 1.98 10.67
2 100kN/mM%#8 2 % — - ~ — —|3mEEZD - ~ — — — | 100kN/mM%#BZ 5 - - ~ — —|3mEEZS - ~ - - -
ZhLlst 1.00 | 000 ~ 505 62.93 | #hs | 000 ~ 505|234 12.64 ZhLlst 1.00 | 5,00 ~ 9.56 62.93 | Ths | .00 ~ 9.56 | 2.34 12.54
P 100kN/ %82 % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/MZE#BZ % — - ~ — — |3mEBZS -~ — — —
znst 1.00 | 0.00 ~ 505 62.93 | TN | 000 ~ 505|234 12.564 zHnLst 1.00 | 5.00 ~ 9.56 62.93 | TN | 5,00 ~ 9.56 | 2.54 12.64
4 100kN/mM%#B 2 % — - ~ — —|3mEEZD - ~ — — — | 100kN/mMi%#BZ 5 — - ~ — — |3mZEBZD -~ — — —
ZhLlst 1.00 | 000 ~ 625 78.53 | #hus | 000 ~ 625|213 11.39 ZhLlst 1.00 | .00 ~ 9.56 78.63 | RS | 500 ~ 956|213 11.39
5 100kN/ %82 % — -~ = —|3mZEEBZB| — ~ — — — | 100kN/MZE#BZ% % — - ~ — — |3mEBZS -~ - - -
ZhLlsh — -~ = — | Zhust - ~  — — — Fhst — — ~ — — | Zhuist — ~ — — —
P 100kN/mM%#B % % — - ~ — —|3mZEEZD - ~ — — — | 100kN/mMi%#BZ 5 - - ~ — —|3mZEEZ S - ~ - - -
zhst — -~ — — | Zhs -~ — — — zhLs — -~ — — | Ehst -~ — — —
7 100kN/ %8 2% — -~ = —|3mZEEBZB| — ~ — — — | 100kN/MZ#BZ% % — - ~ — — |3mEBZS -~ — — —
ZhLlst — -~ = — | Zhust - ~  — — — Zh st — — ~ — —| Zhs — ~ — — —
8 100kN/mM%#B 2 % — - ~ — —|3mEEZD - ~ — — — | 100kN/mMi%#BZ 5 — - ~ — — |3mZEBZD - ~ — — —
zhLst — -~ — — | Zhs -~ — — — zhs — -~ — — | Ehust -~ — — —
P 100kN/ %82 % — -~ = —|3mZEEZB| — ~ — — — | 100kN/MZE#BZ % — - ~ — — |3mEBZS -~ — — —
ZhLlsh — -~ = — | Zhus - ~  — — — Zh st — — ~ — —| Zhs — ~ — — —
10 100kN/mM%H#B 2 % — - ~ — —|3mEEZD - ~ — — — | 100kN/mMi%#BZ 5 — - ~ — — |3mZEBZD -~ — — —
Zhsn 1.00 | 000 ~ 625 7846 | #hLs | 000 ~ 625| 2.95 15.81 zhsn 1.00 | 500 ~ 1463 78.46 | TS | 5,00 ~ 14.63| 2.95 15.81
11 100kN/ %82 % — -~ = —|3mZ#Z 5| 000 ~ 021|320 17.14 | 100kN/m%#Bz % — - ~ — —|3mEBZB| 1500 ~ 1513 | 3.20 17.14
znst 1.00 | 0.00 ~ 640 80.48 | #hst | 021 ~ 640 3.00 16.05 zHnLst 1.00 | 5.00 ~ 1513 80.48 | =4t | .00 ~ 1500 | 3.00 16.05
12 100kN/mM%Z#B 2 % — - ~ — —|3mZEEZD - ~ — — — | 100kN/mMi%#BZ 5 — - ~ — — |3mZEBZD -~ — — —
zhsn 1.00 | 0.00 ~ 640 80.48 | #hbst | o0 ~ 640| 2.95 15.78 s 1.00 | 6.00 ~ 1513 80.48 | =nS | 5,00 ~ 1513 2.95 15.78
13 100kN/m%#BZ% | 1.00 | 0.00 ~ 025 103.74 |3mZEBZZ| — ~ — — — | 100kN/m%Z#BZ5 | 1.00 | 1683 ~ 1807 | 10374 |3mE#BZ% -~ - - -
Zhs 1.00 [ 025 ~ 804| 100.00 | Fhist | 0.00 ~ 804|277 14.81 Zhilst 1.00 | 5,00 ~ 1683 100.00 | Thst | 500 ~ 1807|277 14.81
14 100kN/mM%#8 2 % — -~ — —|3mZEEZD - ~ — — — | 100kN/mMi%#BZ 5 - - ~ — —|3mEEZS - ~ - - -
zhLst — -~ — — | Zhs - ~ — — — zhsn — -~ — —| Ehust -~ — — —
15 100kN/m%Z#BZ25| 1.00 | 0.00 ~ 1.36| 120.70 |3mE#BZ%| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 1262 ~ 1789 | 120.70 |3mE#BZ3% -~ - - -
zTnst 1.00 | 1.36 ~ 9.15 100.00 | =0 | 000 ~ 9.15)| 2.056 10.98 znLs 1.00 | 5.00 ~ 1262 100.00 | FhLSY | 5.00 ~ 17.89| 2.05 10.98
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16 100kN/m%#8B%% | 1.00 000 ~ 1.56 120.65 |3mE#BZB| — ~ — — — | 100kN/mM%#82% | 1.00 | 1262 ~ 17.89 120.65 |3mE#BZ3 -~ — — —
Zhst 1.00|1.536 ~ 9.15| 100.00| Fhst 000 ~ 915|253 13.55 ZhLls 1.00 | 5.00 ~ 1262| 100.00| Thst | 500 ~ 1789|2563 13.55
17 100kN/m%#BZ% | 1.00 000 ~ 252 139.48 |3mE#ZB| — ~ — — — | 100kN/m%#82% | 1.00 | 11.19 ~ 21.97 139.48 |3mE#B x5 -~ — — —
ZhLst 1.00 | 2562 ~ 1030| 100.00 | FhS | 000 ~ 1030|258 13.83 zns 1.00 | 5.00 ~ 11.19| 100.00| Thst | 500 ~ 2197|258 13.83
18 100kN/m##BZ% | 1.00 000 ~ 252 139.47 |3mE#ZB| — ~ — — — | 100kN/m%#82% | 1.00 | 11.20 ~ 21.97 139.47 |3mE#BZ3 -~ — — —
Zhst 1.00 | 262 ~ 1030\ 100.00 | FhWS | 000 ~ 1030|295 15.77 zns 1.00 | 5.00 ~ 1120 100.00| Thst | 500 ~ 2197|295 15.77
19 100kN/m##8%% | 1.00 1000 ~ 1.71 126.13 |3mE#BZB| — ~ — — — | 100kN/m%#8Z% | 1.00 | 11.93 ~ 1846 126.13 |3mE#B x5 -~ — — —
Zh st 1.00 171 ~ 949| 100.00| Fhst | 000 ~ 949|268 14.35 ZhLls 1.00 | 5.00 ~ 1193 100.00| Thst | 500 ~ 1846 | 2.68 14.35
2 100kN/m%#BZ% | 1.00 000 ~ 055 108.21 |3mE#ZB| — ~ — — — | 100kN/mM%#8Z% | 1.00 | 1260 ~ 14.45 108.21 |3mE#BZ3 -~ — — —
Zh st 1.00 (055 ~ 834 100.00| Fhilst | 000 ~ 834|253 13.54 ZhLls 1.00 | 5.00 ~ 1260 100.00| ThLst | 500 ~ 1445|253 13.54
21 100kN/m% B2 % — -~ = —|3mZEB2Z| — ~ — — — | 100kN/mMi%#8 2% — - ~ — —3m%#B25% -~ — — —
Zh st 1.00 |1 0.00 ~ 481 59.94 | FhLst | 000 ~ 481|298 15.93 ZhLls 1.00 | 500 ~ 1001 59.94 | FnLS | 500 ~ 1001|298 15.93
29 100kN/m% B2 5% — -~ = —|3mZEB2Z| — ~ — — — | 100kN/mMi%#8 2% — - ~ — —3m%#B25% -~ — — —
Zhst 1.00 | 0.00 ~ 652 82.18 | #hust 000 ~ 652 1.83 9.79 ZhLls 1.00 | 5.00 ~ 7.87 82.18 | #hlust | 500 ~ 7.87|1.83 9.79
100kN/m% B2 % ~ ImEEZD ~ 100kN/m##8 2% ~ ImEEZD ~
ZhList ~ zns ~ zns ~ Zznst ~
100kN/m% B2 % ~ ImEEZD ~ 100kN/m##8 2% ~ ImEEZD ~
ZhList ~ zns ~ zns ~ zns ~
100kN/m% Bz % ~ ImEEZD ~ 100kN/m##8 2% ~ ImEEZD ~
ZhList ~ Zzns ~ st ~ zns ~
100kN/ Mm%z 5% ~ ImEEZD ~ 100kN/m##8 2% ~ ImEEZD ~
ZhLlst ~ zns ~ zns ~ znst ~
100kN/m% B2 % ~ ImEEZD ~ 100kN/m#%#8 2% ~ ImEEZD ~
ZhList ~ zns ~ zns ~ zns ~
100kN/m% B2 % ~ ImEEZD ~ 100kN/m#%#8 2% ~ ImEEZD ~
ZhList ~ s ~ zns ~ zns ~
100kN/m% Bz % ~ ImEEZD ~ 100kN/m##8 2% ~ ImEEZD ~
ZhList ~ Zzns ~ Zzns ~ Zznst ~
100kN/m% B2 % ~ ImEEZD ~ 100kN/m##8 2% ~ ImEEZD ~
ZhLst ~ Zh st ~ Zh st ~ Zh st ~
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